

SOUTHEASTERN LOUISIANA UNIVERSITY FACULTY / STAFF PROFILE REPORT AS OF CENSUS DATE: OCTOBER 1, 2000

1. EMPLOYEE STATUS

Employee Status	Number
Active Employees	1,698
Leave W/ Pay Employees	3
Leave No Employees	3
Total	1,704

FULL-TIME /PART-TIME

Full Time/Part Time	Number
Full Time Employees	1,217
Part Time Employees	487
Total	1,704

2. TOTAL SALARIES BUDGETED FOR THIS FISCAL YEAR

Full Time Employees	\$40,238,799
Part Time Employees	\$1,827,575
Total	\$42,066,373

3. EMPLOYEES BY CLASSIFICATION

Employee Classification	Number of Employees	Average Annual Salary	Total Salaries
Full Time Faculty: 12 Month	51	\$72,813	\$3,713,458
Full Time Faculty: 9 Month	427	\$40,841	\$17,438,934
Full Time Librarian: 12 Month	17	\$40,342	\$685,812
Full time Faculty: 1 Semester	23	\$28,562	\$656,915
	1	1	

http://www2.selu.edu/Administration/Depts/HumanResources/hrofsp00.html

		¢ 42.5 CO	¢120.000
Full time Faculty: on LWOP	3	\$43,560	
Full time Faculty: on LWP	3	\$50,141	\$150,422
Part time Faculty: 9 Month	7	\$15,498	\$108,486
Lecturers	178	\$3,099	\$551,650
Librarians : Part time	0	\$0	\$0
Lab School Teachers	14	\$5,025	\$70,345
Full Time Unclassified Staff	195	\$36,799	\$7,175,887
Full Time Temporary Unclass Stf	10	\$25,020	\$250,200
Full Time Classified Staff	443	\$21,532	\$9,538,859
Full Time Temp Classified Stf	19	\$14,114	\$268,174
Part Time Unclassified Staff	14	\$18,383	\$257,356
Part Time Classified Staff	4	\$6,809	\$27,238
Graduate Assistants	214	\$2,226	\$476,369
Graduate Teacher Scholars	12	\$12,000	\$144,000
Interns	1	\$13,069	\$13,069
Resident Managers	22	\$1,115	\$24,525
Tutor Teachers	5	\$7,800	\$39,000
Community Music School	14	\$8,112	\$113,568
Classified Intermittent Empl	3	\$6,667	\$20,031
Unclassified Intermittent Empl	25	\$0	\$211,395
Total Employees	1,704		
4. EMPLOYEE CITIZENSHIP			

Employee Citizenship	Number
Native/Naturalized	1,608
Resident Aliens	24
Non-Resident Aliens	72
Total	1,704

5. EMPLOYEE GENDER

Employee Gender	Number
Male Employees	715
Female Employees	989
Total	1,704

6.EMPLOYEE MIX

http://www2.selu.edu/Administration/Depts/HumanResources/hrofsp00.html

Employee Mix	Employee Mix						
New Employees since 7/		650					
Continuing Employees							1054
Total							1,704
EMPLOYEES BY HIGH 7. FULL-TIME FACUL							
Rank	Doctorate	Specialist	Masters	Bachelor	Associate	None	Total
Full Professor26010							27
Associate Professor	17	0	0	0	0	0	17
Assistant Professor	3	0	1	0	0	0	4

Instructor	0	0	1	0	0	0	1
Other/No Rank	1	0	0	1	0	0	2
Total	47	0	3	1	0	0	51

8. FULL-TIME LIBRARIANS: 12 MONTH

Rank	Doctorate	Specialist	Masters	Bachelor	Associate	None	Total
Full Professor	0	0	0	0	0	0	0
Associate Professor	0	0	1	0	0	0	1
Assistant Professor	1	0	15	0	0	0	16
Instructor	0	0	0	0	0	0	0
Other/No Rank	0	0	0	0	0	0	0
Total	1	0	16	0	0	0	17

9. FULL-TIME FACULTY: 9 MONTH

Rank	Doctorate	Specialist	Masters	Bachelor	Associate	None	Total
Full Professor	59	0	2	0	0	0	61
Associate Professor	77	1	6	0	0	0	84
Assistant Professor	102	1	25	1	0	0	129
Instructor	17	0	132	4	0	0	153
Other/No Rank	0	0	0	0	0	0	0
Total	255	2	165	5	0	0	427

10. FULL-TIME STAFF FT UNCLASS, TEMPORARY UNCLASS, FT CLASS & FT TEMPORA

Rank	Doctorate	Specialist	Masters	Bachelors	Associate	None	Total
Full Professor	0	0	0	0	0	0	0
Associate Professor	0	0	0	0	0	0	0
Assistant Professor	0	0	0	0	0	0	0
Instructor	0	0	0	0	0	0	0
Other/No Rank	8	1	94	127	14	423	667

Total	8	1 94	127 14	423 667					
EMPLOYEES BY TENU									
1. FULL-TIME FACUL									
Rank	Tenured	Tenure-Track	Non-Tenure Track	Totals					
Full Professor	27			0 27					
Associate Professor	16			0 17					
Assistant Professor	2			0 4					
Instructor			0	1 1					
Other/No Rank				2 2					
Total	45		3	3 51					
2. FULL-TIME LIBRARIAN: 12 MONTH									
Rank	Tenure	Tenure-Track	Non-Tenure-Track	Totals					
Full Professor	0	() (
Associate Professor	1	(0					
Assistant Professor	4	12	2	0 16					
Instructor	0	() (
Other/No Rank	0	() (
Total	5	12	2	0 17					
3. FULL-TIME FACUL	TY: 9 MONTH	I							
Rank	Tenured	Tenure-Track	Non-Tenure-Track	Totals					
Full Professor	61		0	0 61					
Associate Professor	80		4	0 84					
Assistant Professor	21	9	5	3 129					
Instructor	0		1 15	2 153					
Other/No Rank	0		0	0 (
Total	162	10	0 16	5 427					
4. FULL-TIME STAFF:	FT TEMPORA	ARY UNCLASS, F	T CLASS & FT TEMPOR	ARY CLA					
Rank	Tenured	Tenure-Track	Non-Tenure-Track	Totals					
Full Professor	0		0	0 (
Associate Professor	0		0	0 (
Assistant Professor	0		0	0 (
			0	0 (
Instructor		1		7 667					
Instructor Other/No Rank	0		0 66	/ 00					
			0 66 0 66						
Other/No Rank Total									
Other/No Rank	0 HNIC GROUP			7 667					

Full Time Faculty: 12 Month	48	1	0	2	oll	51			
Full Time Faculty: 9 Month	389	11	12	14		427			
Full Time Librarian: 12 Month	17	0	0	0		17			
Full Time Faculty: 1 Semester	21	1	1			23			
Full Time Faculty: on LWOP	3	0	0	0		3			
Full Time Faculty: on LWP	2	0	0			3			
Part Time Faculty: 9 Month	6	0	0	1		7			
Lecturers	173	5	0	0		178			
Lab School Teachers	14	0	0			14			
Full Time Unclassified Staff	159	34	1	1		195			
Full Time Temporary Unclass St	10	0	0	0		10			
Full Time Classified Staff	330	110	1	0	2	443			
Full Time Temporary Classified	16	3	0			19			
Part Time Unclassified Staff	13	1	0	0		17			
Part Time Classified Staff	4	0	0			4			
Graduate Assistants	163	17	12	19	3	214			
Graduate Teacher Scholars	105	0	0	0		12			
Interns	1	0	0			12			
Resident Managers	13	9	0			22			
Tutor Teachers	1	4	0	0		5			
Community Music School	11	0	2	0		14			
Classified Intermittent Empl	3	0	0	0	0	3			
Unclassified Intermittent Empl	22	2	0	1	0	25			
Total	1,431	198	29	39	7	1,704			
17. EMPLOYEES BY TOP TEN						-,,			
Tangipahoa						1,081			
St Tammany		1,001							
East Baton Rouge	165								
Livingston		121							
Jefferson		51							
Washington		23							
Orleans		17							
Ascension	11								
St. Helena		9							
St. John	6								
Total	1,653								
18. EMPLOYEES BY AGE									

Age Group	Number
<= 20	6
21 - 25	161
26 - 30	177
31 - 35	195
36 - 40	185
41 - 45	222
46 - 50	243
51 - 55	250
56 - 60	136
61 - 65	84
66 - 70	33
71 - 75	9
>= 76	3
Total Employees	1,704
Average Age	42

FOOTNOTE:1. Report does not include student employees hired under the college workstudy program.2. The AAUP definition of instructional faculty served as a guide for this report. Academic department heads ARE included as instructional faculty.

Back to the Human Resources Office Main Page

Back to the Main Page

This page is maintained by John Impson

Questions or comments about this page should be directed to jimpson@selu.edu

<u>Copyright 1996-2002 Southeastern Louisiana University</u> ALL RIGHTS RESERVED Unofficial and external sites are not endorsed by Southeastern Louisiana University